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Task No1.

Set the correspondence between the word

and the translation.
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A constitutional monarchy. A)

Head of state. B)
To approve. C)
To reign. D)
The support of the E)
parliament.
The house of Lords. F)
The house of Commons. G)
The main role. H)
The ruling party. )
The Conservative Party. J)
The Laberal Party. K)
The Liberal Party. L)
M)

[MpaBdLwada naptus
3aKOH, 3aKOHbI

[Tanata Jlopoos

[MapTna Tpyga
[Moooeprkka
napnameHTa
JInbepanbHas napTus
KoHcepBaTtuBHasa napTtud
[ naBa rocygapcrea
[Nanata oOLwuH
HasHauatb (rn.)

[ maBHas posib
[MpaBuTb (rn.)
KoHCTUTYLMOHHaS
MOHapXun4
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Task Ne2
Translate the text and retell

The House of Lords has more than
1,000 members, although only about
250 take an active part in the work of
the House. The members of the
House of Lords are not elected, they

inherit their seats in Parliament. The
chairman of the House of Lords is the
Lord Chancellor and he sits on a
special seat called the Woolsack. It
shows that wool made England rich.




1) The House of
Commons plays the
main role in lawmaking.

It consists of Parliament
who are elected for a
period of five years.

2) Members of the House
of Commons belong to

different political parties,
and the party which gets
the majority of seats in the
House is called the ruling

party, and the others — the
opposition.




The Flag and The National
Emblems of Great Britain




«Posa TiogopoB» - eLle ogHa
LLIMPOKO N3BECTHAas
repanbgnyeckasi ambnema.
CuMBONU3NPYET OKOHYaHNE
paspyLmnTeribHON
rpakaaHCKon «BOMHbI anowu
n 6enon po3». MHoroneTHee
NPOTUBOCTOSIHME
3aBepLUNSIOCH
BOCXOXJEHMEM HaA MNPECTOJT
lenpuxa Vil Togopa.Ero 4 /
oTeL, npoucxoaun n3 goma b,
NTaHKacTepoB, YbMM Zi| ©
CUMBONOM Oblina anas po3sa.
MaTb e bbina
HacrnegHuuewn npexae
BpakgebHoro goma opkos,
KOTOPbI CMMBONU3NpoBana
benaga posa.




